YRk 25 AR E R T)I O il S A S LA E R o

[J TJ Nef]

TRBERTHRERI

= S

A

0

TR 253 A18H

6 H1H

7H31H

8 H23H

10 A

12 A

ER26E2 98

2H22H

2 A

Tk 25 FERETIIOMESSSEREREERXE 1 ARTRARFE
REOEL(ZERNIOHLHBE DM D)
(BIZER:)IOEHRKE 2% R5)
(BIZERJIOBETEIR /MEWL ERX)
(BEE - HSYDE /MEIL FAE

EXAE DA

Fv3U3—RNHEOBEHA

aF S —NHFRHA

NEHEDHYIY (139 A, 167 HIHE)

F2RIRTEEDRME

N DX S5 5—DIRE
Fr308—RIhhHor5]

M >BR—XEER

A OLESCHHTER

TA—LREIA—LNOTTRE JATH O ->bESC DA EHKEHE

BRNOSRKEERTHHOS>EEM

XS 93—G9X(D)TI7A I A MR- —)IL) FERL




56 540

EXODPRXZTREE
U A DER (B M)
IH H FEZE | REEE A R
1 AEE 1,860,000| 1,860,000| 52t RIEEEEEXEEE
2 HEEFF 0 182|FAE FIF
& i 1,860,000 1,860,182
T HDE (Bfz:M)
IH H FEZE | REEE A R
1 WREE 70,000 140,000/ SALEEEE L 70000H(HO—5FHE. Ea—HL%)
A4S RMR—XERK#1470,000 (@5,000H x 1478—X)
2 k& 100,000 0
3 THE 230,000 121,897|;H#EMmE 36,547 (MDLE1,663M. B AAH AT FH U AM17,685M
EBECAHABEZEIOT7I717,199M)
RIS AE 85,350 (F5 FIRfI70,350MH .
AR IVBERS—ILEIRFI15,000M)
4 BHEE 40,000 8,555|#xA #43,465M . BISEMiE 1,790, EIKEH#13,300M
5 FiE#H 1,420,000| 1,588,050|7%&< % #H{ER & 1,164,450M
PR%w X ¥E£,381,600 (') 7 774 JL 180,000, > —JL 78,750,
AEMR122,850M)
A4S AN & EE42,000M
1,860,000 1,858,502

IR A 1,860,182 — ZH 1858502 =

1,680 RiZZE




o 250000 oouobooboobouon

gobbobbbuooogobobb 2000000000 25080 230000

gobbobboogdgdgoonooudo

guooobmbobobbouooooobbboooooobobboumonog

guoooobbbgoooooobouooooobbbuooooooobn
1



gooooooo

guooooon gudooobbooogooon



goooboooo

gooboooo goo

guooon 1 8poood



goooboooo

[E=20in7 7 =l

U260 2090000000000 0O000000OODODO

O0000o0oobooboon PRO
4



